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MAT 201 Section 2.2

Homework
#s1,2,7,9,13,15,31,33
9. For the function f whose graph is shown, state the following.
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l3—'-I6 Sketch the graph of an example of a function £ that
satisfies all of the given conditions,

3. lim S =2 lim () = -2, f(1) =2

5] lim f(x) = 4, lim f(x) =2, lim f(x) =2,
fB) =3, f(~2)=1 ra.4)
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MAT 201

Section 2.2 Homework
451,2,7,9, 13, 15, 31, 33
21-24 Use a table of values to estimate the value of the limit.
If you have a graphing device, use it to confirm your result
graphically.
e+ 4 — o . ]
2. i Y4~ 2 33. Determine lim — and lim —
T x—>0 X - ; s=lae -1t x? — ]
Ce h{éﬂg lpt / T by - 25 1{5 (a) by evaluating f(x) = 1/(x* = 1) for values of x that
- — approach 1 from the left and from the ri ght,
Ax+4 -2 E .
% —-— (b) by reasoning as in Example 9, and
B (c) from a graph of f.
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